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Class: 3 

1). Counting by 4 write the next 4 numbers

4974  = 

2). Which is the Smallest number

8264 6113 9919 6919  = 

3). Counting by 2 write the next 4 numbers

238  = 

4). Which is the largest number

2048 6819 4882 8882  = 

5). Counting by 4 write the next 4 numbers

6054  = 

6). Which is the largest number

1394 2341 7729 7729  = 

7). Write the successor of the following number

1343  = 

8). Write the successor of the following number

1732  = 

9). Counting by 3 write the next 4 numbers

2242  = 

10). Write the following numbers in increasing order

3887 4394 4227 5553  = 

11). Counting by 4 write the next 4 numbers

9840  = 

12). Write the successor of the following number

Page 1/2



www.tutorbot.in

Class: 3 

1170  = 

13). Counting by 4 write the next 4 numbers

0046  = 

14). Counting by 5 write the next 4 numbers

3206  = 

15). Write the following numbers in increasing order

5775 3783 2543 5543  = 

16). Write the predecessor of the following number

1236  = 

17). Write the successor of the following number

1524  = 

18). Counting by 3 write the next 4 numbers

1921  = 

19). Counting by 2 write the next 4 numbers

300  = 

20). Write the following numbers in increasing order

2944 3577 5526 2526  = 
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